~15 10 = (=15) — (+10) = (-15) + (-10) = -25







3. the 3 AN Fah oA Wt g2 shisr

@(%) : (—g) @ (-24) + (+6)

@ (+64) + (-16) = -4

0 ()= (D) xro—s

0 () +(§)-(4)x() -
@ (-24) + (+6) = -4

0 () ()= (2)+(:9) -~




4. o® HolA 178 wiok & AL FEs] HlEY —so] Hgrt.
sh2 ) A4 ghe Fotola

> E:

> Hgh: 26

B

ofd A& x 2t 5t

x+(-17) = -8
Xx=-8—(-17)=-8+17=9
uteba] = A AitstA

9= (=17) = 9 + (+17) = 26 °]}.
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at=7] Alitstoizt.
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(=10) = (=3) + (=5)
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tll:j ‘(I?F‘j’]_/r\‘oﬂjﬂ -0.6 —% HHHO]: '§;_1— Zi_% ;1{——'_]—%6]'0:" E]éﬂﬂ‘/] 3 7534_7]—
0.3 o] =3t} HIZ A ALkl §2?

D 0.6 @ 0.9 ® 1.2 @1.5 ® 1.8

a+(-0.6)=03,a=03-(-0.6)=0.9
Hk2 7] A4kt A3H= 0.9 - (-0.6) = 0.9+ 0.6 = 1.5




9. oW fE5lA 18 2 Felof T AL FRste] Wy 1 At
~0.6 °] oIk, BE2A| ALreE e Fatolet.

a-18=-06,a=-06+18=1.2
L2 7] A4S A= 12+ 1.8=3




10. o= At B0 O ©°M AHE (1) x (+13) x (-25) Jo

Ao A MAS SEA R _(413) % (—4) x (-25)

A& e Fetek _(+18)+ (1) x (<291 ©
=(+13) x (+100)
=+1300

@6 wargn, 0 283
@ @: LEPH, © : B
® @: AEH, O BN
@ @ 2EE, O 2gN
® @: AYHH, O L
axb=bxa

I

(axb)xc=ax(bxc)=axbxc










13. kg2 Akstolet,

(9)-()




14, 488 Aol
. 2 .
2+ (+3) = (-3)




Q)3 ®-3 @2

O -2







17. o % AN A3} e shibs?

© (2)+(-3)x (-9 @ (+12)+ (-4)x 3
O(-3) <7+ ® (s
o - ()

@ (+12)+ (~4)x 2 = (-3) x s = -8
® (—g ><2—;+5:(—30)+5:—6
@(—4)—é><%=(—4)><6x—_—8
® (1 (1) = nx (-E) = -8
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19. -8+6-12+ 5= AASHH?

® 9 @7 ® -1  @-9

B

-84+6-12+5

= (=8) + (+6) + (-12) + (+5)
= (-20) + (+11)

=-9




20. oF& F oA v e sk

® 2-3-4 @ -3-(+5) + (+3)
® (=6) + (+7) — (+6) @ -11+10-4
@(+4)— (-2)-9




